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Every question carry 1 marks

For every 3 wrong answers 1 mark will be deducted

1. Consider the following statements:
1. India and Brazil are rich in accumulated carbon credits.
2. Carbon credits countries are those who emit carbon less than their
permissible limit.
3. The Kyoto protocol 1997 had created the carbon market.
4. Kyoto protocol will be replaced by Paris agreement in 2020.
Which of the statements is/ are correct?
a) 1,2,4 b) 2,3, 4 01,2 d) all
2. Consider the following statements:
1. When the stance is accomodative then MPC invariably cuts some basis
points in repo rate.
2. The reduction in repo rates can lead to inflation.
3. The non-transmission of monetary policy means that RBI is not
following direction of Government
Which of the statements is/ are correct
a)1and 2 b) 2 and 3 c) only 2 d) all.
3. Consider the following statements regarding ‘Ever greening'
1. It is related to Intellectual properties rights
2. Ever greening is possible only in medicines.
Consider the following statements:

a) a) 1only b) 2 only c) Both1and2  d) neither 1 nor 2
4. Consider the following statements regarding the constitutional
amendments ..

1. 42M constitutional amendment restricted the jurisdiction of the High
court to review the constitutional validity of central laws.

2. 43" constitutional amendment restored the jurisdiction of High Court
to review the constitutional validity of the law.
Which of the statements is/ are correct:-
a) 1 only b) 2 only c) Both1and 2  d) neither 1 nor 2
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5. consider the following statements
1. Operation clean art is related to Mongoose.
2. The mongoose is listed in schedule Il (part 2) of the wildlife protection
act and smuggling or possession of its body part is a non-bailable

offence.
Which of the statements is/ are correct:-
a) 1 only b)2only  ¢)Both1and2 d) Neither 1 nor 2

6. Consider following statements:

1. The increase in particulate matter reduces the oxygen percentage of
environment.

2. Lipoid pneumonia will cause pulmonary dysfunction.

Which of the statements is/ are correct:-

a) 1 only b) 2 only -~ ¢)Both1and2 d) Neither 1 nor 2
7. Consider following statements:

1. Clown fish shares symbiotic bonds with sea anemones.

2. Clown fish breeds only in sea anemones.

3. Sea anemones shares symbiotic bond with algae for food.

Which of the statements is/ are correct:-
a) 1 only b) 2 and 3 €) 1and 2 d) all
8. Consider the following statements regarding 24™ Constitutional

amendment act, 1971.

1. This gave power to parliament to amend any part of the constitution
except fundamental rights.

2. By this amendment act, President was made obliged to assent any
constitutional amendment bill when it was passed again after
reconsideration by parliament.

a) 1 only b) 2 only c) Both1and2  d) neither 1 nor 2
9. Consider following statements.

1. Gangetic Dolphins are notified as state aquatic animal of Assam.

2. It is listed as critically endangered species in India by IUCN.

3. Gangetic Dolphins are found in River Ganga, Brahmaputra and Chilka
lake.

Which of the statements is/ are INCORRECT:-
a)1and 3 b) 2 only €)2and 3 d) all
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10. Consider the following statements:
1. Green line is armistice line between Israel and west bank.
2. Jordan is name of a river.
Which of the statements is/ are correct:-
a) 1 only b)2only ¢)Both1and2 d) Neither1 nor2
11. Consider the following statements:
1. The thin single cell lining between two adjacent alveoli is called
interstitium.
2. Alveolar septa lies between an alveoli and its adjacent capillary.
Which of the statements is/ are correct:
a) 1 only b) 2 only c) Both1and2  d) neither 1 nor 2
12. Consider the following statements:
1. All the EU member countries are members of NATO.
2. Italy is only NATO member country which is also a part of China's Belt
and Road Initiative.
Which of the statements is/ are correct:
a) 1 only b) 2 only c) Both1and2  d) neither 1 nor 2
13. Consider the following statements:-
1. Narwhal (Mondon monoceros) is the only whale that has tusk.
2. They are mammals inhabited around arctic circle.
3. All the Narwhals have tusk but only one in 500 grows a double tusk.
Which of the statements is/ are correct
a)1and 2 b) 2 and 3 c) only 2 d) None
14. Consider the following statements
1. Muslim League for the first time demanded a separate Muslim majority
state at Lahore resolution of March 1940.
2. Dr BR Ambedkar resigned from government because Hindu Code Bill
was not passed by Rajya Sabha.
Which of the statements is/ are correct
a) 1 only b) 2 only ¢) Both 1 and 2 d) neither 1 nor 2
15. Consider the following statements:
1. Liechtenstein is a European Union member country.
2. Itis a landlocked country of Europe.
Which of the statements is/ are correct?
a) 1 only b) 2 only ¢) Both1and 2  d) neither 1 nor 2
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